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Q.361 A moving-coil instrument gives full-scale deflection of 10 mA, when a potential difference of
10 mV is applied across its terminals. To measure current upto 100 mA, the same instrument
can be used by connecting a
(a) a shunt resistance of 0.1 Q
(c) a shunt resistance of 0.01 Q

(b) a series resistance of 0.1
(d) a series resistance of 0.01 Q

361. (a)
R
Ron = mTl
. _ 1 _100x107 o
where, "L, 10x107
R = 10mV _
" 10 mA
1
= ——=01Q
Ra = T0-1

Q.362 A Q-meter is supplied with an oscillator having a 500 mV output voltage while testing an
unknown inductor, the voltage across the variable capacitor of the Q-meter measured by a
digital voltmeter is obtained as 5 V, the Q-factor of the inductor is

(@ 1 (b) 10
(c) 20 (d) 5
362. (b)

Since Q-meter works on principle of resonance

V, = V.=QV
Ve 5
= —=——=10

© 7V S00x10°

Q.363 Inductance of a coil having Q-value in the range of (1 < Q < 10), can be best measured using
(a) Hay’s bridge (b) De-sauty’s bridge
(c) Maxwell’s bridge (d) Carry-foster’s bridge

363. (c)

Q.364 Precision is composed of two characteristics, one is the number of significant figures to which
a measurement may be made, the other is

(a) Conformity

(b) Meter error

(c) Inertia effects (d) Noise
364. (a)
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Q.365 Which one of the following multi-range voltmeters has high and constant input impedance?
(a) Permanent magnet moving coil voltmeter
(b) Electronic voltmeter
(c) Moving iron voltmeter
(d) Dynamometer type voltmeter

365. (b)

Q.366 Three D.C. voltmeters are connected in series across a 120 V D.C. supply. The voltmeters are
specified as follows:
Voltmeter A : 100 V, 2.5 mA
Voltmeter B : 100 V, 500 Q/V
Voltmeter C : 10 mA, 30000 Q
The voltages read by the meters A, B and C are respectively.

(a) 30,40 and 50 V (b) 40, 50 and 30 V
(c) 50,40 and 30 V (d) 40, 30 and 50 V
366. (b)
_ 10 40 kQ
A 25mA
Ry = 100 V x 500 Q/V = 50 kQ
R = 30 kQ
[ - 120 120 mA

— :1
Ry +Rgp+R- 40+50+30

V, = 40kQx1mA =40V
V, = 50kQ x 1 mA =50 V

<
1l

¢ =30kQx1mA=30V

Q.367 Material used in the fabrication of swamping resistance of a PMMC instrument is

(a) Copper (b) Aluminium
(c) Manganin (d) Tungsten
367. (c)

Q.368 Due to the effect of inductance in the pressure coil, a dynamometer type wattmeter
(a) Reads low on lagging power factor and high on leading power factor
(b) Reads high on lagging power factor and low on leading power factor
(c) Reading is independent of the power factor
(d) Always reads lower than actual value

368. (b)
Due to the effect of inductance in the pressure coil, deflecting torque in a dynamometer type
wattmeter varies as:
(i) For lagging power factor,
T, e VIcos(¢ - B) {cos(¢ - B) > cosd}
So, wattmeter reads high.
(ii) For leading power factor
T, e VIcos(¢ + B) {cos(d + B)< coso}
Hence option (b) is correct.
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1
Q.369 A 35 digit voltmeter having a resolution of 100 mV can be used to measure maximum voltage

of
(a) 100 V (b) 200 V
(c) 250V (d) 500 V
369. (a)
V
Resolution = £S
10"

where, n is the number of full digit.
Vs = Resolution x 10"
100 mV x 10° =100 V

Q.370 Lissajous pattern shown in a double beam cathode-ray oscilloscope screen for two sinusoidal
voltages of equal magnitude and of the same frequency but of phase shift of 30° is
(a) acircle
(b) an ellipse where major axis is in the first and third quadrant
(c) a straight line at 45° with horizontal
(d) an ellipse whose major axis is in the second and fourth quadrant

370. (b)

Q.371 The power across a 3-phase, 3-wire balanced load system is measured by two wattmeter
method. One of the wattmeter reading is 500 W with accuracy of +2.5% of full scale reading
and the second wattmeter reading is 1250 W with accuracy of £0.5% of reading. If both the
wattmeters are having a full scale value of 1500 W each then the limiting error in the total

power is

(a) £0.5% (b) £2%

(c) +2.5% (d) £3%
371.  (¢)

25
Limiting error in the first wattmeter = * 100> 1500 =£37.5W

0.5
Limiting error in the second wattmeter = * 200> 1250=+6.25 W

Total power = P, + P, = (500 + 37.5) + (1250 # 6.25) = 1750 + 43.75
43.75

imiti i =+ ——x100=125%
Limiting error in total power 1750 o

Q.372 A 100 mV full scale dual slope integrating type DVM has a reference voltage of 10 mV and
conversion time of 50 ms. For an input of 5 mV, the conversion time is

(a) 25 msec (b) 50 msec
(c) 75 msec (d) 100 msec
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372, (¢)
For dual slope integrating type DVM
Vi X T] = Vref X T2
here, Ve = 10mV
T, = 50 msec
V, = 5mV
T, =7
: 5mV
T. = Vi xT = MY 50 msec = 25 msec
2 Vit 10 mV

Conversion time = T, + T, =50 + 25 =75 msec

Q.373 An AC voltmeter uses the circuit shown below, where the PMMC meter has an internal resistance
of 500 Q and requires a D.C. current of 1 mA for full scale deflection. Assuming the diodes to
be ideal, the value of R, to obtain full scale deflection with 10 V (AC rms) applied to the input
terminal would be

R D
o—WW——DF——
y PMMC
ACi
1nPUt _C/ meter
o
(a) 4.5 kQ (b) 4 kQ
(c) 5 kQ (d) 0.5 kQ
373. (b)
D.C. sensitivity of meter
Spe = ! =L=1kQ/V
Ifsd ImA
Spc = 045 x S, =045kQ/V =450 Q/V
RS = Vin(rms) X SAC - Rm
= 10 x 450 - 500
= 4 kQ

Q.374 A (0-100) V voltmeter has a guaranteed accuracy of 1.2% on full-scale reading. The voltage
measured by this instrument is equal to 3/4% of its full scale value. Then the percentage limiting
error on the measured value is equal to

(@) 1.2% (b) 1.6%
() 0.12% (d) 0.16%
374. (b)

Magnitude of the limiting error is,
0.012x100V =12V
Percentage error at a meter indication of 3/ 4t of jts full scale, i.e. 75 V is,

1.2
% = —x100=1.6%
T
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Q.375 Consider the following statements:
1. Gross errors are mostly human errors.

2. Systematic errors are due to random variations in the system measurement.
3. Random errors are due to the effect of environment.
Which of the above statements is/are true?

(a) 1 only (b) 1 and 2 only
(c) 2 and 3 only (d)1,2and 3
375. (a)

Q.376 A1 mA ammeter movement with an internal resistance of 100 Q is shunted with 1.1 Q resistance.
Then this combination of ammeter is used to measure the maximum current range of

(a) 19.19 mA (b) 90 mA
(c) 91.91 mA (d) 99.91 mA
376. (c)
I 1mA 100 Q
Fsb G\ AAAA
U \AAA
AAAA
\AAA
1.1Q
Given, Lypsp = 1mA
R, = 100 Q
Ry =11Q
We know that,
Rm
R = M-1)
I
where, M = —ED_
Inrsp
M-1 = Ry =@=90.909
Ry 11
M = 91.909

Irep = M % Lypep = 91.909 x 1 mA
Iyep = 91.91 mA

Q.377 Consider the following statements regarding “electrodynamometer wattmeter”:
1. it measures the average value of active power.
2. it has non-linear scale.
3. due to the effect of inductance in the pressure coil, it reads high on lagging power factor
and low on leading power factor.
Which of the above statements are correct?

(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3
377.  (¢)
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Q.378 The clock frequency of a digital voltmeter is 500 kHz, the ramp voltage falls from 10 V to 0 V
in 50 ms. Then the number of pulses counted by the counter is

MADE EASY
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(a) 250 (b) 2500
(c) 25000 (d) 250000
378. (c)

We know that,
Number of pulses = 500 x 10% x 50 x 10-3 = 25000 pulses

Q.379 Consider the following statements regarding a strain gauge:
1. the strain is measured in terms of the change in the resistance.
2. dummy strain gauges are used for compensation of temperature changes.
3. the gauge factor of a strain gauge is the ratio of strain to per unit change in resistance.
Which of the above statements are correct?

(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d) 1,2and 3
379. (a)

Q.380 Consider the following statements regarding a CRO:
1. Input resistance of CRO is nothing but the input resistance of vertical amplifier.
2. Bandwidth of CRO is nothing but the bandwidth of pre-amplifier.
3. Gain of CRO is nothing but the gain of horizontal amplifier.
4. Vertical amplifier is a push-pull amplifier.
Which of the above statements are true?

(a) 1 and 2 only (b) 1 and 3 only
(c) 1,2 and 4 only (d) 2,3 and 4 only
380. (c)

Q.381 Consider the following statements regarding “Bellows”:
1. They are prone to errors due to shock and vibrations.
2. They are simple and rugged in construction.
3. They are capable of providing small force and low pressure range of measurements.
Which of the above statements are correct?

(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3
381. (a)

Q.382 Two sinusoidal signals with frequencies ‘f," and “3f,” are applied as X and Y inputs respectively
to an oscilloscope. Which one of the following patterns could be observed on the screen?

@ (X o (XX

(© (d) (‘I‘}
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382. (b)
For closed Lissajous pattern,
fy Number of Tangencies in Horizontal plane
f. ~ Number of Tangencies in Vertical plane
fo 343
f X - f 1 1

Hence, option (b) is correct.

Q.383 A balanced Owen’s bridge is shown below.

R, =10kQ

o

G =2pF R,=10kQ

The values of R and L are respectively
(a) 20 kQ and 20 H
(c) 20 kQ and 200 H

(b) 200 k€ and 200 H
(d) 200 kQ and 20 H

383. (o)
At balance,

1

joCs

[R1+ ; L ]Rz = (R+jwL)
JoCy

By equating real and imaginary parts, we get,
R,C;  10*x2x107

o 1x107°
L = RR,Cy;=10*x10%x 2 x 106 = 200 H

=20kQ

S. The net flux crosses the surface S will be

Q.384 A circular disk of radius 4 m with a charge density p, = 12sin¢ mC/m? is enclosed by surface

(a) 48 uC (b) 12 uC
(c) 3uC (d) o
384. (d)

Total charge enclosed,

27 4

0 = | [(2singydrdo
00
=0
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Q.385 A dielectric material has relative permittivity of 9 and the loss tangent is 10~ at 50 MHz, the
conductivity of the medium will be
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(a) 1.41x10°5/m (b) 2.82 x10° U/m
(c) 25.03 x10°U/m (d) 10.6 x 10 U/m
385. (c)
The loss tangent is given by,
tand = —
e
c
10-% =

2mx50%10° x9x8.854 x 10712
6 = 25.03 x10° U/m

Q.386 A material has 6 = 0 and ¢, = 1. The electric field intensity is given by
E =4cos(10°t-0.012)a, kV/m

The value of p_ is

(@) 3 (b) 6
(@9 (d) 12
386. (c)
6
v = 9=£=108
P B 001
here , o _3xa0®
w,o=32=9

Q.387 An air filled square waveguide with 2 = 1.2 cm has,
E,=-10 sin(Zﬂ)sin(wt -80z) V/m
a

The cutoff frequency f. is

(a) 12.5 GHz (b) 25 GHz
(c) 40 GHz (d) 80 GHz
387. (b)

~~m=0andn = 2; TE , mode.
For square waveguide, a2 = b,
vy  3x10"

f.o= — =25GHz
¢ a 1.2

Q.388 An air filled rectangular waveguide has dimension 2 = 2 cm and b = 1 cm. The range of
frequencies over which the guide will operate single mode is

(a) 0GHz < f<15GHz (b) 75 GHz < f< oo
(c) 75 GHz < f<15GHz (d) 3.5 GHz < f<7.5 GHz
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388.

(c)
Since the guide is air filled,
For dominant mode:

_ ¢ _3x10"

¢ 2a 4
The next higher mode will be either TE,, or TE

, c _3><1O10

=75GHz

o1- for both the modes,

fe = 2
Thus, the operating frequency range over which the guide will be single mode is,
75 GHz < f<15GHz

=15GHz

Q.389 A uniform plane wave in free space has electric field vector given by,

The wave is said to be
(a) linearly polarized

389. (a)

the material is

(@) 99 %107 U/m

(c) 0.98 x 1012 5/m
390. (o)

Relaxation time T

(c) Left hand circularly polarized

Since the two components have a fixed phase difference with respect to time and position, the
wave has linear polarization.

Q.390 The relaxation time of a material with dielectric constant of 6¢; is 54 sec. The conductivity of

Q.391 A wave propagates from a dielectric medium to the interface with free space. If the angle of
incidence is the critical angle of 20°, the relative permittivity of the medium is

E=10¢7"4,+15¢7%4, V/m

(b) Right hand circularly polarized
(d) Left hand elliptically polarized

(b) 1.98 x 10-25/m
(d) 0.49 x 102 5/ m

€

£ 6x8.854x107"

T, 54

=0.983x1072 U/m

r

(a) 0.116 (b) 0.0136
(c) 2.92 (d) 8.54
391. (d)
ino 8"2
sin®., = |
i 87’1
in20° !
sin = —/—
/8r1
1
o n sin? 20°
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Q.392 A small dipole of length 0.02A is excited with a rms current of 4 A. The power radiated by the
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antenna is

(a) 040 W (b) 8.04 W
(c) 1.60 W (d) 5.06 W

392. (d)
diy
Radiation resistance of the dipole is, 807> (IJ
2
_ 80“2(0.027»}
A
R, = 0318 Q

Power radiated, P_, = I’R_,=4?x0.318=5.05W

Q.393 In order to achieve a maximum unambiguous range of 160 km, the pulse repetition frequency will be

(a) 234.37 pulse/sec (b) 468.75 pulse/sec
(c) 937.5 pulse/sec (d) 1875 pulse/sec
393. (c)
c
Run = 57
2f,
where, f, = pulse repetition frequency
8
160 x 100 = 210
2x f,
f, = 937.5 Hz = 937.5 pulse/sec

Q.394 Consider a lossless transmission line with characteristic impedance Z;, = 50 Q. If the line is
terminated with a load impedance of 80 Q. The minimum input impedance of the line will be

(a) 80 Q (b) 50 Q
(c) 31.25 Q (d) 15.26 Q
394. (c)
Zy
|Zin|mirl = ?
. A
where, S = Zy 50
50 2500

Zin] = =2 =31250Q
inlmin = 80/50 80

Q.395 In a uniform linear array, four isotropic radiating elements are spaced 1 apart. The progressive

phase shift required for forming the main beam at 30° off the end fire array is

(a) —g rad (b) —2 rad
() - \/in rad (d) - \/gn rad
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395. (o)
v = Pdcosd + o
Here, ¢ = 30°
A
7%
_2m
o
and y = 0 (for end fire array)
o = -Pdcosod

= —2—n><&><c0530° = —Zxcos30°
A4 2

= —\/gnrad
4

Q.396 For an 2.4 m parabolic dish antenna the minimum distance required for far field measurement
is given by 150 m. The approximate operating frequency of the antenna will be

(a) 1.63 GHz (b) 2.45 GHz
(c) 3.9 GHz (d) 8.7 GHz
39. (c)
942
Far field distance = %
2
150 m = 2x(2.4)
A
A = 0.0768 = 7.68 cm
¢ 3x10°
., ting f L, f= —=—5=390GHz
operating frequency, f N 7 e8% 102

Q.397 For a solenoidal vector field F = (x +3y)a, + (5y +2z) a, +(x—=Qz)d,, the value of Q must be

(a) 5 (b) 6
(c) 7 (d) 8
397. (b)

The vector will be solenoidal if its divergence is zero.

V.F = i(x+3y)+i(5y+22)+i(x—Qz)=0
ox oy 0z
1+5-Q =0
or Q=6

Q.398 For vector field 7 =xa, +ya, +zd,,

1. V- (Vx7)=1 2. Vx7=0
3. V720 4. V(F-7)=7
Which of the above relations are true?
(a) Tand 3 (b) 1and 4
(c) 2,3and 4 (d) 2and 3
www.madeeasy.in Day 9 : Q.36‘| to Q.41 0 © Copyright:MADEEASY Page 12

Delhi | Noida | Bhopal | Hyderabad | Jaipur | Indore | Lucknow | Pune | Bhubaneswar | Kolkata | Patna




PTQ Prelims Through
Questions
£ MADE ERSY IZd ESE 2021][ e

398. (d)
ay a,
VX7 = 9 9 9 =0
Y dy dz|
X Yy oz

d d d
V7 = —)+—(W)+—(2)=3
P W )
77 o= (x&x +ya, +z&z)-(x&x +ya, +z&z)=x2 +y2+22
VE) = 2@+ 4 P+ (P 4y 4 Py + (0 )i,
ox dy Yoz
= 2xa, +2ya, +2za, = 27
Q.399 Ina free space H (z,t)= Ecos(wt —Pz)a, A/mis given. The corresponding time averaged pointing
T

vector will be

(a) 1.034, kW/m? (b) 7.64a, kW/m?
(c) 3.907a, kW/m? (d) 15.274, kW/m?
399. (b)
g = Ecos(wt—Bz)ﬁy
n

n = 120n Q

. . 20 .

F=mxH-= 120nx?cos(mt—Bz)ax

= 1 = AP _ 1 20 A 2 A o

Thus, Py = ERQ(EXH )—5 7><12O><20 a, W/m” = 7644, kW/m

Q.400 A current carrying circular loop, placed in the air, has loop current of 1 mA. If the loop radius
is 2 cm, then the magnetic flux density at the center of the loop is

(a) T nWb/m? (b) 0.1r nWb/m?
(c) 10t nWb/m? (d) 100m nWb/m?
400. (c)

For a current carrying circular loop, at center,

I
B = M0H=M0X2—
p

4nx107 x1x1072 ) )
= ) Wb/m* =101 nWb/m
2x2x10

Q.401 In a particular conducting medium, the electric field is given by,
E=16e"""sin(2x10%¢ - 0.05x)a, V/m
The skin depth is

(@) 20m (b) 2m
(c) 0.5m (d) 0.05 m
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401. (a)
1
8= 3
Here, o = 0.05
S5 = L=20m
0.05

Q.402 In a copper conductor, the electromagnetic wave at 100 MHz penetrates to a depth of 7 um.
The wavelength of electromagnetic wave is

(a) 3um (b) 7 um
(¢) 14 um (d) 44 um
402. (d)
1 1
For conductors, § = —==
o P
1 1 27
H y = - = =
e b 6 7um A
2n
A= B =7 % 21 um = 141 um = 44 um

Q.403 A small dipole of length 0.1A is excited by a sinusoidal signal with a peak current of 5 A. The
total power radiated by such an antenna is

(a) 49.35 W (b) 98.7 W
(c) 1479 W (d) 891.6 W
403. (b)

=
|

dl 0.1A
= 80m?| —| =80m 82 Q
rad n(x) ( k) =0.8n

1
—ISRmd = %XSZ x 0.87°

The power radiated 5

25 x 0.4n> ~ 10 x 9.87 = 98.7 W

Q.404 A 6 cm x 4 cm rectangular waveguide operating in TE,, mode at a frequency equal to /2 times

the cut-off frequency. The operating frequency is

(a) 5 GHz (b) 10 GHz
(c) 15 GHz (d) 30 GHz
404. (c)

For TE,, mode,

B mnz N2 3><101° 3n2 2_n
fC_Zn b 4

3><1010 n2 n2 3><1o10 (n)z
+ X, |2 5
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10
_ 3x10 Hyz
242

V2,

V2x3x10"  3x10"°
22 2

Q.405 An electromagnetic wave propagating at a frequency ‘f” in free space has the wavelength A. At
the same frequency its wavelength in an airfilled rectangular waveguide is 7»8. If the cut-off
frequency of the waveguide is f,, then the plot (Xg/ A) vs (f/f.)is

—
Il

=15GHz

A/

Ao/ N ;
1 !
(a) (b) \
1 ""I' """"
| 7f. T ff.
A/ A/
(c) d
1 | S,
405. (b)
As we know,
A
by = -
1| fe
;)
hy 1
o 2
1| fe
;)
A LU/
A (f/f.)* -1

Q.406 A transmission line, having primary constants R, L, C and G, has a characteristic impedance Z,,
which is purely resistive. Then
S,: the line is definitely a lossless line.
S,: the line is definitely a distortionless line.
Which of the above statements is/are true?

(a) S, only (b) S, only
(c) Both S, and S, (d) Neither S, nor S,
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406. (b)
Characteristic impedance,

R+ joL
%0 = \G+ joC
For Z, to be purely resistive,
1 -1 oL -1 oC
/7, = —|tan ——tan — |=0
o e

0 2
tan ! (D—L = tan! £
R G
L _c
ot/ R G

RC = LG = Distortionless

Direction (Q.407 to Q.410): The following items consists of two statements, one labelled as Statement (I)
and the other labelled as Statement (II). You have to examine these two statements carefully and
select your answers to these items using the codes given below:
Codes:
(a) Both Statement (I) and Statement (II) are true and Statement (II) is the correct explanation
of Statement (I).
(b) Both Statement (I) and Statement (II) are true but Statement (II) is not a correct explanation
of Statement (I).
(c) Statement (I) is true but Statement (II) is false.
(d) Statement (I) is false but Statement (II) is true.

Q.407 Statement (I): It is possible to measure ac current on a D’Arsonval movement when a rectifier
is used to produce unidirectional torque.
Statement (II): Rectifier converts ac into dc and the rectified current deflects the coil in the
D’ Arsonval meter.

407. (a)

Q.408 Statement (I): Piezoelectric transducers are self-generated type transducers.
Statement (II): Piezoelectric transducers have very good high frequency response.

408. (b)

Q.409 Statement (I): An antenna behaves as a resonant circuit, when the length of the antenna is
integral multiple of A/2.
Statement (II): An antenna of length A/2 has a radiation pattern of two lobes.

409. (b)
To behave as a resonant circuit, the length of an antenna is an important factor and it should be
equal to integral multiple of A/2.

Q.410 Statement (I): A lossless transmission line is always a distortionless line.
Statement (II): A distortionless transmission line is always a lossless line.

410. (o)

www.madeeasy.in Day o Q.36‘| to Q.41 0 © Copyright: MADEEASY Page 16

Delhi | Noida | Bhopal | Hyderabad | Jaipur | Indore | Lucknow | Pune | Bhubaneswar | Kolkata | Patna





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




